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Figure 1. Example BMI conversion chart (taken from the UK WHO
Growth Chart 0-4 years).

How to use this chart

1. First log the child’s height and weight on separate height and weight centile charts.

2. On the BMI conversion chart locate the child’s weight centile (left axis) and read
across horizontally until you are in line with the child’s height centile (bottom axis).

3. Follow the closest parallel blue lines up to the right to determine the child’s BMI
centile.

See overleaf for a worked example.



If a child is on the 98" centile for weight:

996

296 ] 91

98 B gl I G -
B oshesnsnsssnnsnnsninnesnnis I
a1 MO ot et N B <l P

75

25 oo o

U g

0.4

Weight Centile

04 2 9 25 50 75 91 98 908
Height Centile

And on the 75 centile for height:
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They will fall between the 98" (obese) and 99.6' (severely obese) centiles for BMI:
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